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1) Who was the author of 'Nrityaratan Kosh'?

1) Kumbha

3) Som

1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA'¥l-wl"~' fit ~ ~ q.fr ?

1) ~

3) BfqzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JC D T

2) Mandan

4) Jagjiwan bhatt

2)~

4) ,iPI-mCl1 ~

2) The culture of red and black mud baked pottery was related to :-

I) Kalibanga 2) Aahar

3) Balathal 4) Bagour

2) ~~ ~i'/Iog cmrft ~ CfiT ~ ~ m :-

20- •

1) CbI<'fttSjJIl

3) GITffimi

2)~

4) ~

3) Between which power's was the bettle of Sarangpur (1437AD) Fought?

1) Mewar - Malwa 2) Mewar - Marwar

3) Gujrat - Marwar 4) Mewar - Chandel

3) ijl(JI9;< ~ (1437 ~.) ~ ~ t ~ si3TI ?

1) ~ - 1ffiilC!T

3)~-~

2)~-~

4)m-~

4) Who associated Aurangzeb in the battle of Khajwa (1659AD)?

1) Jaswant Singh 2) Karn Singh

3) JaiSingh 4) BheemSingh

4) ~ ~ (1659 ~.)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif 13f1<JI'31fS1 cnr m~~ m ?

1) ~ ffiQ 2) q)Uf fm;-

3) ~ ~ 4) ~ fm;-

5) Which following Code is does not match?

Temple

1) Shrinathji

2) Dawarikadhishji

3) Mathureshji

4) Govind devji

Place

Nathdwara

Kankrouli

Jodhpur

Jaipur
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5)~~~~i ?zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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1)~~

2) ~~Tufi

3) l1~~rufr

4)~~

-;:rr$TU

. ~;:;l1Cblet){l I

*~
~

~i
~1
n
'II

~

~
!

, I

I
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6) The Dargah of Sufi Saint Meethe Sahib is located in ;-

1) Gagron 2) Bharatpur

3) Bhains roadgarh 4) Bhatner

6)~~~~~~fumi :-

1)~

3) ~'{1{)gll<?

7) Who established Jasnathi Sect?

1) Laldas

3) Haridas

7)'~ ~' ~ ~~. c6t :-

2)~

4)~

2) Prannath

4) Nathmuni

1) <'11<'1G:m

3)~

8) With which style of painting is 'Gulamali', 'Baldev, 'Saligram', 'Ramgopal' associated with?

1) 'Nathdwara 2) Alwar

3) Bundi 4) Bikaner

8) ~ \3lffi, ~, {1(f~PHlii, ~:tiill(ql(i1 ~~6f)I<1 t6f ~ ~ iW;r. ~ 'B"m i ?

1) -;:rr~ 2) ~

3} ~ 4) q"ICfiI~{

9) Who is the author of 'linguistic Survey of India'?

1) George Greyyson

3) MotilalMenariya

9) 'MRtRc6f) ~ ~ ~' ~ ~% :'-

1) \JU\Jf ~

3) l:il\1!{iiI{ii ijrllR<:J1

2) LP. Tessitori

4) Gairy Smith

2) ~. 1ft. ~@€ltl

4) fRt ftq~
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10) The 'Hariyali teej' is celebrated in :-

1) Shravana shukla tritaya

3) Shravana krishna tritaya

10)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA'~ftqlffi ~' ~ ~ ~ :-

1) .I3ITCfOT ~ ~

3) .I3ITCfOT ~ ~

2) Bhadra pad shukla tritaya

4) Bhadrapad krishna tritaya

2)~~~

4)~~~

11) The Novel 'Rajput Jiwan Sandhya' is written by :-

1) Kesarinath

3) Ramesh Chandra dutt

11) '~ ~ ~' \3q;qIB ~ %:-

1) ~(ifl'1ler

3) (it~Tq;s:: ~

12) 'Ksharbag' is Situated in:-

1) Bundi

3) BikanerzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

12) '~' ftem % ;-

1) ~

3) C\C!6I~<'

2) Awanindranath

4) Kanhaiyalal

2) 01q;ft~1Ier

4) Cb{ql(ill(t1

2) Jodhpur

4) Ajmer

2)~

4)~

13) With which Prajamandal Movementis the name of Pt. Nayanu Ram Sharma associated with?

I) HarotiPrajamandal 2) Marwar Prajamandal

3) JaipurPrajamandal 4) BikanerPrajamandal

13) ~ "(0410.<1'1 ~T+1fCOT~ fcnfr ~\ijI'i°s{<1 ~ # "@ i ?

I) lfIRfr SNllqus(i1

3) ~ SNtI+iUs{i1

2) lffiClTS' ~ \ij l'iOs (t1

4) ~ ~\liI'iUs(t1

14) Promwhere wasthe newspaper 'Pratap' published?

1) Delhi 2) Agra

3) Kanpur 4) Bareli

t 4) 'smrq' ."lTl1Cf) ~ 1:B1 ~ B' ~ m err ?

1) ~ 2) I3WRT

3) ~ 4) GIttft

20- • 5
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15) What were 'Balad'?

1) Sarthwah

3) SainikzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

15) 'CffiifG:' ~ ~ ?

1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAm$rm

3) ~

2) Bakhshi

4) Krishak (Fanner)

2) ~ft

4)~

16) Who was appointed the 'Raj Pramukh' ofMatsya-Sangh?

1) Dholpur Ruler 2) Karouli Ruler

3) Alwar Ruler

16) ~ w.r GfiT 'tNf ~ ~ ~ ?

1) .~ ~TlWf)

3) ~ ~1RfCO

4) Bharatpur Ruler

2) ~ !(TlWf)

4) ~ ~1fBCfl

I
"I

I
'. !

(

1.

17) Who Setup the 'Desh Hiteshani Sabha' in Udaipur?

1) Maharana Shambhu Singh 2) Maharana Sajjan Singh

3) MaharanaAjit Singh 4) Maharana Jaswant Singh

17) ~ if 'a:~I@~ISIU~ tMT' Cf)f 1TQ.i ~ M ?

1) li$I<IOII ~~ lW

3) lO!$I<IOII ~ lW

18) Which is not a puff instruments?

1) AIgoja

3) Morchang

18)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~WR~~;@t?

1) 0iWilcill

3)~

2) li(;I<IUII ~ ~

4) li~I<I01I ~ ~

2) Satara

4) Surmandal

2) 'B(fffi

4) tl<li og«l

19) Between whom was the bettle of 'Tunga Fought?

1) Pratap Singh& Mahadji Sindhiya 2) Ragoba& Jaswant Singh

3) Jai Singh& Mahadji Sindhiya

19)'~ ~' ~ lWl (i1Sf 11m ?

1) WW1 lW i3fu: ~ mmm
3) ~0fu:~~

4) Bheem Singh& Mahadji Sindhiya

2) ~0ffi~~
4) ~ -3fR 4i~I~\J1!"\1fBftrm

20) When was the state of Jhalawar established?

1) 1836 AD

3) 1842AD

2) 1838 AD

4) 1844AD



IzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA .rcnr
20) $ll(Tfl6llg ~ rtt ~ ~ ~ ?

1) 1836zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAt.
3) 1842 t.

21) What is the geographical area of Rajasthan?

1) 3,85,370Square kilometer

3) 3,38240 Square kilometer

21) (j1l1~11 q)l '4l~nR<1Cf) ~ ~ ~ ?

1) 3,85,370erf fcb~ijliIC<

3) 3,38240 qTf FtiPllc<

2) 1838 t.
4) 1844~.

2) 3,42,239 Square Kilometer

4) 3,40,485 Square kilometer

2) 3,42,239 qrf fchl!i)41c<

4) 3,40,485 qrf FtMlli''tc:;<

22) In which one of the tracts of Rajasthan does Malwa Plateau extends?

1) South - eastern 2) Eastern

3) South - western 4) North - eastern

22) ~1Il1~Fl ~ ~ ~ if lffiT1CIT q-(jR cor Fcrnm- ~ ?

1) • - wff 2) ~

4) ~-~3).-~

23) Mukandra Hills largely extend in-

1) Tonk district

3) Bundi 4istrict

23) ~ ~ q$l~qi ~ ~«1IRd ~ -

1) R~ l{

3) (Ct ~

2) Banswara district

4) Kota district

2) iSliB6lIS;1 m if

4) ~mif

24) Which river forms part of Sambhar lake inland drainage area?

I) !CantU 2) Bandi

3) Mendha 4) Mansi

24) "'"' ~ '3I1'dRCf) ~ ~ rtt ~ q)Ff - m ~ ?
I) ~ 2) qiir

3) ~ 4) l1FRft

lS) Which one of the following pairs of rivers in Rajasthan is correctly matched?

I) Kothari - Luni 2) Sukri - Banas

3) Jakham - Mahi 4) Banganga - Chambal

20- • 7
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25) ~ if ffi zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAffifura if u ~ cor ~ ~ ~ ~ % ?

1) ~ - ~ 2) ~ - CRm

3) ~:, -rBTtr

26) 'Mawatha' rain in Rajasthan is caused due to -

1) Arabian cyclones 2) Mediterranean cyclones

4) Retreating monsoon3) Bay of Bengal monsoon

26) ~ if 'lfICfO' cr:rr mm % -
1) \3Wf~~u

3)~~~U

2)~~~~

4) !>I~lq&~~

27) Which crops are generally grown in mixed red and black soils in Rajasthan?

1) Rice, Sugarcane 2) Groundnut, Mustard

3) Cotton, Maize 4) Wheat, gram

27) ~ if ~ ~ \3ftr CfiRifr fTfft if flP11~(1:$-m ~ ~ \lfKft ~ ?

1) r.ncwr, llm

3) COCITff, lJCfCf)f

2) ~11Of)~1,mm
4) itt WIT

28) Dry teak wood forest extends over the largest area in which Forest Division of Rajasthan ?

1) Rajsamand 2) Banswara

3) Sirohi 4) Kota

28) ~ fllllqlYl ~ CR ~ ~ ~ CR ~ ~ ~ ~ ~ ~ ~ ~ ?

1) (I\J1W"1~

3) mum
2) qiflqp$1

4) cpfcr

29) More than two-thirds of rice producing area of Rajasthan falls under which agro-climatic zone?

1) Flood prone eastern plain 2) Sub-humid southern plain

3) Humid southern plain 4) Humid south-eastern plain

29) ~ cor m - ~ B ~ r.ncwr \3~Ie:Cf) ~ ~ ~ - .~ &US ~ ~ '3ffiff % ?

1) ~~.~~ 2) ~~~

3) i3lci c:fuufr ~ 4) ~ ~ - ~ ~

30) In which districts of Rajasthan Mewat breed of cattle, buffalo and goat is found?

1) Bundi, Kota, Baran

2) Dungarpur, Banswara, Pratapgarh

3) Alwar, Bharatpur, Dholpur

4) Ajmer, Tonk, Bhilwara

20- • 8



3) 28.85
e? 34) OddzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAout the pairn2t correctly matched -

BJy«valley Project

I) Shakra Nanga!

2) OwnbaJ

3) Seas
4) Mahi Bajaj Sagar

34) mrn.n q'lT rm ~ -
;(t tnft Qfi4l'Jl '1 I

I)~~

2) ~

3) &fm

4) t:rrtt ~ m<RzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JC D T

10} ~ ~ ~ ~~T, ~ q qq;ff ~ ~ fc5;r RIffif if trrQ; ;srffi ~ ?

I) «t, cfficT, qffi 2) ~, qlflCl1f?1, Sliilqll~

3) ~, ~, ~ 4) 0-:;FR, ~, mMC/I!$1

J I) Band Baratha wildlife sanctuary is located in which district of Rajasthan?

I) Bharatpur 2) Dholpur

3) Alwar 4) Karauli

1 J) A trn'toTeFIOIG11C1 ~ ~ ?t ~ fuffi if ~ ~ ?

I)~ 2) ~

l)~ 4)~

32.) Where are thebiological parks in Rajasthan established?

I) NaIwprh. Saijangarh, Machia 2) Shergarh, Nahargarh, Akal

3) AkII, Sajjangarh,Marudhara 4) Van Villar, Akal, Machia

32) t_,,, q ~ ~ com ~ ~ .~ ~ ?

I) ,,,,,iI4, flOIJ1"PltjI, ~ 2) ~~, "M<llq;, ~

3) """', (1Q(ft.,allfl, ~ 4) CR ~, ~, ~

'3) What i.percentageofland irrigated by canals in Rajasthan (2013-14) ?

I) 26.49 2) 24.36

3) 28.85. 4) 29.75

'3) R"PI if ..u mu ~ ~ Cf)Tma-~TO ~ ~ (2013-14)? .

I) 26.49 2) 24.36

4) 29.75

Participating State

Punjab, Haryana, Rajasthan

Madhya Pradesh, Rajasthan

Punjab, Rajasthan, Uttar Pradesh-

Gujarat, Rajasthan

fi~4Pfi ~
~, (;R~IUII, ~

~~T, ~m;:r

~,~,~~~T

~,~

920- •
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35) On which site is the main dam of Mahi-Bajaj Sagar project built?

1) Khandu 2) Borekheda

3) Ghatol 4) Kadana

35)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBArntT-~ tfI1R QR<£II\i1'i1'OT ~ qlu frEB ~ ~ ~ % ?

1) ~ 2) GlIH~¥1

3)~ 4) ~

36) Approximately how much percentage of usable ground water available in Rajasthan is being currently
utilised?

1) 50 2) 25

3) 66 4) 75

36) ~ if ~ 'li-\Jffl eft ~ l1T?IT COT ~ ~ ~m 'qT1T ~ if ~ if fWu \ilT ~ % ?

1) 50

3) 66

2) 25

4) 75

37) Odd out the incorrect statement regarding fluorosis problem in Rajasthan -

1) All the 33 districts of the state are affected by fluorosis

'2) Western and southern districts of the state are more affected by fluorosis

3) Fluorosis is more affective in rural areas than urban areas

4) More than 72 percent villages of the state are affected by fluorosis

37) ~ if '#IlilR\("I ~ "€J ~ ~l(rkt ~ cnT ~ -

1) ~ ~ ~33~ I#1I<1ffi("l "€J ~ ~

2) ~ ~ ~ ~ ~ ~ '#Ililffi("l "€J ~ ~ ~

3) ~mt~ ctt ~ mlffur ~ if '#1'1<1ffi("l C6T ~ ~ %

4) ~ if 72 ~~"Rf "€J ~ <ifq '#I1<1ffi("l "€J ~ ~

38) Cities of Rajasthan located on National Highway No. 12 are -

1) Jaipur - Ajmer - Udaipur 2) Jaipur - Bundi - Jhalawar

3) Jaipur - Sikar - Bikaner 4) .Jaipur -Nagaur - Jodhpur

38) ~ if ~~ B&n12~fum'~~-

1) ~ - ~ - ~ 2) ~ - {<ft - $i1~lqI9

3) ~-~-.~ 4) ~-~-\Jlr~

39) Large reserves of pyrites in Rajasthan have been explored in-

1) Sikar district

3) Jhunjhunu district

2) Churu district

4) Bikaner district

20
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% ?

JeDT

19)1T1'Hm1 if ql~<I~c~ ~!lmrr ~ ~ -rm; % -

I} rfuri?: f,/ffi if 2) ~ m it
J) m~if 4) ~~if

40) Oddout the pair not correctly matched

Mineral

I) Iron - ore

2) Tungsten

3) Manganese

4) Oyplum

40) IRPRr 1'1' 16r ~ -

lIB
I) •• ~

Z)~

)~

4, """

Mining Area

Morija - Banol

Degana

Lil wani

Rishbadeo

rFR§J3

~-~.

~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
~ r,

"Ii!lq 1'1I

l[~

41) WbIch of thefollowing stones falls under Metamorphic category?

I) SIIIdItoDe 2) Granite

J) MItble 4) Basalt

41) ,..., it t ~ lfm chl<'udR<i (Metamorphic)crfit -3lTffi" % ?

I) "~,, 2) ~

3) 4f'liftin 4)~

42) A aood brick earthshould contain alumina in the following limit

I) ' ..I()41f, 2) 20-30%

3) 4O-,s()Cl, 4) 60-70%

42) '" _ te m ~~ it lt~'1I.ctt ~ iRr ~ I

I) '·10%

3) 40·50%

43) Duringslacking action oflime the volume

I) Increases

3) Remains same

43) t,fi ~ ~ (slaeing) it ~ ~ -
I) ~~ I

l)cnfr~%1

2) 20-30%

4) 60-70%

2) Decreases

4) None of the above

2) treaT % IzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

4) ~if~~

11
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1) 150mm 2) l00mmzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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44) Rate of increase of compressive strength of puzzolanic cement as compared to Portland cement
during first week of setting remains

1) Slov 2) Fast

3) Random 4) None of the above

44) m.llf ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif puzzolanicWiic ctT~ ~ (Comp. Strength)q,i~os fi -tt WRT if ~ % I

1) mir 2) #\if

3) ~q(f 4) ~ if ~ ~

45) If water cement ratio in a concrete is increased then compressive strength

1) Increases 2) Decreases

3) Remains same 4) None of the above

45) ~ ~ COT GRr·~ Btifc: COT ~ ~ m \ilfcr ill {=i4')tlll ~~ (Comp. Strength)

1) q¢t ~ I 2) d % I

3) crtr ~ ~ I . 4) ~ if ~ ~

46) The size of cubical mould for testing compressive strength of cement shallbe

3) 70.6mm 4) 50mm

46) Btifc: ctt By)Jll4 ~ (Comp. Strength) ~ ~ ~ COT ~ tmrr ~ I

1) 150 ~.~

3) 70.6 ~.~

2) l00~.~

4) 50~.~

1) 25-40 2) 40-50

47) The core of cross section of an exogenous tree is called

1) Sapwood 2) Pith

3) Heartwood 4) Inner bark

47) l{q{li&i'iB ~!ff ~ ~ .Cf)TC ~ ~ <:rM 'lWT qIT ~ % I

1) ~ 2) fq-~

3)~ 4)~~

48) Which of the following range of Pigment Volume Concentration Number is recommended for paint
for prime coat on metal?

3) 50-60 4) 60-70

48) mg ~ ~ chlc ~ ~. paint ?t PVCN cn1 .9~ mm ~ I

1) 25-40

3) 50-60

2) 40-50

4) 60-70zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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iaintzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JeDTzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

i~() The softening point of various bituminous grades in (degree centigrade) for paving jobs vary between

I) 10-20 2) 20-30

J) 35170 4) 7\)-100

49) f~ ~. ~ cor ~ R+lfoT ~ softening point ffi ~ II rgm ~ I

I) 10-20 2) 20-30

3) 3.5-70 4) 70-100

SO) 'The Marshallstability value for bituminous mixes for heavy traffic shall be not less than

1)71Oka 2) 810 kg

3) 910q 4) 1010kg

SO)..,e ClRiIQlri 1u~~'1ff flrcR:r ctt lff~Wr value Pi"1if?bd if q)ll ;fflt M ~ I

I) 110 ka 2) 810 kg

3) 'IOta 4) 1010kg

'1) DIfttcdon due tobending moment in a regular beam of uniform cross section is proportional to:

1) II

3) I
(i)'

•• DIfttcdon of tip of a cantilever beam of span length,L carrying uniformly distributed load, q is:zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

.e: qL2
I) 24Bl 2) 12EI

3) , 4) :~~

U) A e:ubblr bar oflength l.5m and 200mm diameter is stretched along its lengthby 20mm by a force of
IAN. A. a result its diameter is reduced by 2mm. The poisons' ratio of the bar material will be:

I)'

3) 0.7S

2) 1

4) 0.5

14) A .tnJcture is subjected to different set of loads, and then sum of deflections undereachset of loads

acting separately is equal to total deflection of the structure dueto different set provided loads are

wilhin:

I) Elastic limits including buckling

2) Proportional limits without buckling

3) Elastic limit

4) Limit State

20- •zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA13
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55) Moment of inertia of a rectangular flat (length, L and width,zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAB) about its axis parallel to its length at

a distancezyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAB/2 from its top face is:zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

Br
1)-

6zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
2) LB3

6

3) LB3

12

Br
4) -

12

56) A simply supported beam of spanL, is subjected to two point loads (each of magnitudeP) at a

distance ofU3 from either support, The maximum bending moment in the beam will be

1) PL

3) PLl3

2) PU2

4) PU4

57) A rectangular beam section has width 120mm and depth 500mm. The moment of inertia about an
axis at mid depth parallel to width will be:

1) 15 x 1OlOmm4

3) 125 x l()6mm4

2) 12 x 10lOmm4

4) 125x 107mm4

58) A column oflength l.5m is pinned at both ends has radius of gyration 150mm. The slenderness ratio
will be:

1) 150

3) 10

2) 100

4) 5

59) A simply supported beam (spanL) is subjected to uniformly distributed load, p throughout the span.

The rotation at each end will be:

pC
1)-

48EI

pE
2) 24EI

pE
3)-

12EI

pC
4)

8EI

Where EI is flexural rigidity

60) In a simply supported beam, maximum shear stress illa triangular cross-section (altitude h) occurs at
a distance:

1) h/3 from bottom of beam

3) h/6 from neutral axis

2)JlI3 from top of the bearri

4)h/5 from top the beam

61) Error due to bad ranging is

I) Compensating

3) Cumulative negative

2) Cumulative positive

4) Both (2) and (3)

20- • 14
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JCDT

.thzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAat (j I) 11;f'11'Jf ~ ~ CfiITUT qft-;,- m ~ mm w -

I) HJl~

1) ':({Uf ~

at a

rt an

'atio

oan,

rs at

2) cp:f ~

4) ~ (2)~ (3)

(,~) True meridians

I) Con verge at a point called pole

.1) Converge near equator

(2) Q1nd Qltdit1 (

I) tt1fi ft:s \f{ ~ %, ~ Wl ~ %

2) ~ '" it; ~ M %
J) .,.. bit \f{ ~ %

4) "1M.t~~
0) AlII IIat of Ipherical aberration in a telescope is called

I) AIIaromaUon 2) Chromitation

J) ApIaIdon 4) Ablation

., \lflii ••• ~ ctt ~ Cf)i2~(ct"l W -

2) Are parallel to each other

4) None of these

2) qUfco<:CI

4)~~

I)M_.

')44"UzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

•••••••tl OUI'YI' of a simple circular curve is

I) ••••• oI,commencement

I) •••• of later-section

., •••• ,. Qi ~ 'qsp ~' w -
I) •••• ~

J) •••• " ft:s

2) Point of tangency

4) All of these

61) TIll method of surveying in which field work and plotting work are done simultaneously is called

I) Compasssurveying 2) Chain surveying

3) Levelling 4) Planetabling

." -.vr ~ ~ ~ ij ~ ~ ~ i31f#mR ~ ~ m~-Bmfcflit \Jfffi % ?

I) ~ttHiflQ) ~arar
1) ~~

20 -.
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1)~~

3) ~ qRqd'1

2)~~

4) ~~ B'lftzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JeD T

66) Which of the following errors can be eliminated by reciprocal measurements in differential leveling?zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

IError due to earth curvature

II Error due to atrr.spheric retraction

~

'j

1) Both I and II 2) I only

3) II only 4) Neither I nor II

66) q§;{JqU\ ~!WJT ~ q\H4Rqj llR fcm:r G.RTc6f.:l m ~ ~ c6t\ilT ~ % -

I ~~ c6t ~ G.RT ~ qTffi ~

II ~~ ~ qffi. &m ~ qTffi ~

1) I~.I1~

3) mIl

2) mI

4) I~I1~~

67) If bearing ofalineAB is N 600 301 and thatofBC is 1220 ofaclosed traverseABCDE, then measure
of the interior angle B, is

1) 2400101 2) 1220001

3) 1180301 4) 1500

67) ~ qcl) 00 AB CfiT ~llR N 600301% dm 00 BC CfiT ~llR 1220 % I m ~ 'i\@~@ ABCDE
~ ~ cffiuT B CfiT llR ~ -

'.

1) 2400301

3) 1180301

2) 1220001

4) 1540

68) The contour lines merge or cross one another on the map in case of

1) Vertical surfaces 2) Overhang ground surfaces

3) Cave 4) All ofthese

68) qcl) 'i\'1~~ ~ ~ 00 ~ ~if ~ qmft % m qcl) ~ q;) ~ % -

1) ~ WfQ

3) "TOT

2) ~ §;\3lT ~. WfQ

4) ~ U'Ift

69) The process of bringing vertical circle to the right of the observer if it is originally to the left and
vice-versa is called

1) Face left 2) Face right

3) Changing face 4) All of these

69) ~ ~ q;) 00 qffi ~ ~ ~ ~ c€t ~ q;) CflIT ~ %, ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
~~~~-zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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2) q~cb1oft;qzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA'qq.f

4) ~ B1ft

CDE ,. ". ~t of D.P.C (Damp Proof Course) is done in

I) MIbII 2) Cubic metersI, •••• Meters 4) None of the above .

., •• ." ••• 16m D.P.C qrr ~ ~ ij ~'\JffiIT ~ -zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA~. ~~~J, III -t. 4) \3Q4CfU ij -B ·cnW ~

eling?

asurezyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JC D T

10 j ( 'lOSS hairs in surveying telescope are fitted

I) At the centre of telescope

}) In the objective glass

\) In front of eye piece

") Any where between objective and eye piece

70) rr4~ ~ if ~ com ~ ~ ~ ~ ?

I) (niA$~if

l)~$~

2) ~~~~

4) ~ ~ ~ ~ ~ ijzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACflti ~

11) '('beeontre line method of estimating is used for

') 0ctapaJbuildings 2) Hexagonal buildings

J) Qmdar buildings 4) All of the above

11) •••• " ~OO ~ ~ ~ ~ Cfi111 ij ~ ~ ~-I,••• 1fN 't'A

'II) NIowIq Items aremeasured in kg.

I)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAIapaDdod metal wire netting

2) M.S. reinforcement ofa.c.c. works

J) M.S. piUs provided in roof over courtyard

t and 4, RoIl1ogshutters

fJ, ••••• II t ~ It ~ ~.m. ij ~ ~ % -

I) tttffl~is mg;~ "ffR q)f \j'ffiif

2) ~~~cnr~"Wf~

1) .~ ~ ~ ffil if wlT ~"Wf ~ ctt ~
4)_~

I--

14) Due (0 change is price level, a revised estimate is prepared if the sanctioned estimate exceeds

I) 2.0%

i) 4.W1CJ

2) 2.5%

4) 5.0%

20· • 17
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JC D T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1) 2.0%

3) 4.0%

2) 2.5%

4) 5.0%

75) The expected out turn of cement concrete 1:2:4 per mason per day is

1) 1.5 m' 2) 2.5 m"

3) 3.5 m' 4) 5.0 m3

75) ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAfu:;f ~ ~ cor 1:2:4R ~ cor I31jlilPta ~ ~ ~ -

1) 1.5 ~ 1ft.

3) 3.5 'E[;:r 1ft.

76) Lacustrine soil are soil

1) Deposited in Lake beds

3) Transported by glaciers

76) ~ ctT ~, ~ ~ -
1) ~ ~ m<f if \ifllT

3) ~ ~ ~ qRC4t'1

2) .2.5 ~ 1ft.

4) 5.0 'E[;:r 1ft.

2) Deposited in sea beds

4) Transported by rivers and streams

2) ~ ~ m<f ~ \ifllT

. 4) ~ $ mn~ &m qRC4t'1

77) The ratio of volume of air voides to the volume of the total voides in known as

1) Porosity 2) Air content

3) 'Percentage voids 4) Percentage air voids

77) ClI'!:Ic¥l'!:l Rf4d'41 ~ ~ -3ffi: ~ Rf4d'41 &l ~~. ~ c6r ~ % I

1) mmrr 2) ~ i31~T

3) ~ ~~m 4) ClI'!:Iq"t'!:l ~ cor '5ffil~m

78) Valid range for the degree of saturation(S) of soil in percentage is

1) S::;;O 2} 0<S<100

3) 0::;;S::;;100 4) S>O

78) M ~ ~ ~ ~ i31~T(S) ctT ~.BTI:rr t--
nss0

3) 0::;;S::;;100

2) 0<S<100'

4) S>O

79) A soil has a bulk density of 22zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAKN/mzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA3 and water content of 10%. The dry density of soil inKN/m3

1) 19

3) 21

2) 20

4) 22

1) 19

3) 21

2) 20

4) 22zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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)IIzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAI) A pycnometer is used to determine

I) VI lids ratio and dry density

I) Specific gravity and dry density

2) Water content and void ratio

4) Water content and specific gravity

MOl l'l~,'flIftvzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAem ~ CftlT ~ ~ %- ~ ~ :JWIT % :-

I) ff~ ~ i3fR ~ ~ 2) ~~T ~ itfmrr \3WRf

1) 3J~~~~~~ 4) ~~T~~~

II) n", minimum water content in a soil at which the soiljust begins to crumble when rolled into threads

o( ~n'm in diameter, is known

I) •....uc Umit 2) Liquid Limit

J, Shrinkage Limit .'. 4) Permeability Limit _

II) •••• qpft .rr Q' ~ l1ffi ~ lR iffi 3mmClffi{ ~ mTrzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAif ~ -?r.~ "¢ ~ M ~ ifcb,

W2t.t. :..
IJ"'~ 2)~~

J) "'" _ 4) QI{ll'4dl ~

• .,..,. liven load, a clay layer attains 25% degree of consolidation in 200days. The time then by

•• _ day. Layer to attain 50% degree of consolidation will be

2) 800days1,1".,.
JI~"" 4) 200days

•• at-'Im' t (ffi'f, ~ cffl ctt tffif 200 fe:.TI 1) ~i£lCb{OI qrr 25% fMt ~ CiK#rcfr ~ I @lFf cffl._~ _.,(01c6T50%fW ~~ m m ~ ~~ ?

•••.•••• 2) 800~I,400 •••. 4) 200~

II) C'IIfIIoIeat of permeability of soil

I) •••••• with the increase in temperature

2) IncrIuc with the decrease in temperature

)) Doef not depend upon temperature

-t, None of the above

." fIIf1 *" qW l"'Id I ~

Um3 I) f'tN'Wf if ~ ~ m~~ 2) ~ if cn4T ~ m~~

,
-_t

;

••• t ( 'orfficicnl of consolidation is used for calculating

I) Stress in soil

I) Time rate of settlement

2) Total settlement

4) Preconsolidation pressure

1U,. 19
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84) ~JlCb{OI ~ q;r ~ ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAlJUR1 if mw ~ ?

1) ftrdt it ~ 2) ~ ~
-v

85) In-situ vane shear test is conducted to determine. The shear strength of

1) Non-cohesive soil 2) Cohesive soil

3) Sandy soil 4} Silty soil

85) ~ if ~ ~ ~, ~ ~ ffllT¢ SfRf coR ~ ~ ~ \iTh1T % ?

1) i3l~~Ii1Cb ~

3) tftffi ~

86) For saturated soil, skemption's pore pressure coefficient B is

1) Zero 2) Between 0 and 1

3) 1 4) Greater than 1

86) ~ ~ ~~, WlRJ61 ~ ~ ~ B mar % :-

1) ~p:r 2) 0 i3fu1~ ~

3) 1

87) The lateral earth pressure on a retaining wall

I) Is equal to mars of the soil retained

2) Proportional to the depth of soil

3) Proportiohal to the internal friction of the soil

4) Proportional to the squire of the depth of the soil

87) ~ g~m~ ~ ~ ~ ~ mm %. :-

4) I-ft ~

1) ~~~~'"IH~~

2) ~ G5T ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAin WiljQIRlCb

3) ~$ ~~cfiluT ~~

4) ~ c6t ~.~ q1f.~ (i'"lljqlfuCb

88) The largest value of Taylor's slate stability number is

1) 0.261 2)0.561

3) 1.911 4) 2.911 f

88) ~ rtt ~ ~ U&IT CfiT ~ Cf9T lWf ~ :-

1) 0.261 2)

3) 1.911zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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JC D T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

11'/1zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAI he Il{'uring capacity of a soil depends upon:

!, Sill' of the particles

I (obcsive properties of particleszyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

'<J, !1!r:'*1 1t1 ~ ~ f.ph- m~:-
I) Iq.-:il ~ (.f;TJT t ~ ~

\) fq~tT ~ mtJrc6 .~ ~

2) Shape of the particles

4) All of the above

2) ~ t Cf)lJf.em ~ tf{

4)'34(\CR1 ~ ~

to) In plACe load test to determine the beaming capacity, if soil is sand, the bearing capacity of footing is

I. Independent of the width of footing

J, Oircw:dy proportional to width of footing

,» tnYOnely proportional, to width of footing

4» tJtnlctly proportional to square root of width of footing

to, •• 111m tIm' ~ qffi.~ 'lffi ~ zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAii, ~ ~ ~ m m, ;ftq ~ ~ ~ :-

n ••• ~~~
J, tit ••""" * flBljQIct1J, •••• ~ * ~4Ijql~"1

., ••••••• * ~ ~flBljYldI

2) River water

4) Surface and underground water

2) ~ ~ \iR'f Cf)f

4) mITl" 0ffi ~ \iR'fCf)f

••••• of cho foUowing types of rain gauges is used for measuring rain in remote hilly inaccessible-,
I) •••• nl type 2) Tripping bucket type

" Wttpins type 4) Simon's rain gauge

•• ,. ~ ~ lWft ~ ii U c6Rm <t«HI\i1 ~ ~ ~ ii ~ lWR ~ q)p:f \3WIT t :-

I, • ~ ~ 2) wrr ~ ~ Cf)f

')~~~

", n•.nm off increases with

i) luneuse in intensityof rain

\I I "neusein permeability of soil

2) Increase in infiltration capacity

4) All of the above

.
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93) ~ ~ mu~::mm t:-
1) ffi~TzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAemzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAmm if ~ ~ mu
3) f%it em Qlpl40ldi if ~ ~ mu

2) funq WTffi if ~ $ m~

4) .\;~ "fMtzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

JC D T

94) A sprinkler irrigation systems is suitable when

1) The water table is low

2) the soil is having low permeability

3) The crops to be grown have deep roots

4) The land gradient is steep and the soil is easily erodible

94) fu~Cf)lq ~ ~ ~ % \Jf& :-

1) ~~m-
2) fil¢T ~ QlPI40Idi ~ m-
3) ~ ~ en& ~ em ~ rrru m-
4) ~ CfiT ~ @Sf m- i3fR ~ COT COCTq amwfr u m-

95) The time from planting to harvest the crop is called

1) Base period 2) Crop Period

3) Both (1) and (2) 4) None.of the above

95) ~ ~ ~ ~ em GIR"G ~ ~.~ ~ if WTffi i QJ(H'fl\11t :-
1)~~ 2)~·~

3) ~ (1) ~ (2) 4) ~ U ~ "lit

96) If the depth of water is 8.64 em on a field over a base period of 10dqI. •••• _ I.

1) 10 hectares per cumls 2) 100 hectaresper

3) 864 hectares per cumls 4) 1000 hecltarelU.

96) ~ £rc::R 10 fu:.TI c6T ~ ~ ~ "CR l.lAT ctt ~ 8.64-

1) 10 ~ 'Sfffi cumlsee 2) 100 ~

. 3) 864 ~ ~ cumlsee

97) The optimum depth of Kor watering for a rice crop, is

1) 13.0 em 2) 17.0

3) 19.0 em 4) 23.0

.97) 'qTCffi c6T ~ $ ~ cnRl.lAT qjt ~ ~ % :-

1) 13.0W:ft

3) 19.0W:ft

20-.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA22
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JCDT zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

98)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAfJor \n~, thc most commonly adopted method of irrigation is

I) Chl!ll('. ,,-.thud 2)Furrow method

3) Preen.--e,nl. mochod 4) Sprinkler method

98) ~ ~. " ~ ~ ~ ~ ~ ftftn{ rtt ·fcfftr

I) ~f~ 2) wit ~

99) The Flood ~ Q in cumecs (according to Dicken's formula) is given by

I) CA~ 2)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBACAY.

3) CA" 4) CA%

99) ~ ~ nQ •••• ~ t-wrt ~M~;-

1) CA"

3) CA"

2) CAY.

4) CA%

100)Thequanti"01_ retained by the sub-soil against gravity, is called

1) Yield

3) Spoctnoyield

2) Porosity

4) Specific retention

100) !l&t4i ••• " •••••• \Stf-ftr¢t -e 00 ~ 1:fRTrtt llf;IT qjt(fmfl. ~ :-

1) snfti8 2) mtrffi

3)MNm 4)~.~

101)If d I. ChI depch of theaquifer through which water is flowing, then the relationship between
perme4btllty K andtransmissibilityT is given by

I) T ••led 2) T = Kid

3) T •• .JKd 4) K = -JTct

101) ~ d~ " _ t ~ -e l:fRr ~ -m% ~ QI{II'"Qdl K0fu: 00uT~l1wrr~ Tt ~ wm ~ ;-
l)T-Kd

3) T. JKd
2) T= Kid

4) K = -JTct
102)Accord!n, In Lacey's theory, the silt supporting eddiesaregenerated from

1) Bottom or (he channel only

3) Bouom IU, well as side of channel

2) Sidesof the channel only

4) None of the above

I) $qf'i "f'. I ~; m., il

3) ~F,1 ~) I1r'1 ',fp qr~cf~ B

2) ~ m t 1:fT!tcl ~ B
4) ~ -?rcoW ~
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JeD T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

1)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAm

3) m'

2) m"
4) m'

103) If the average size of silt particles is m mm then Lacey's silt factor is proportional to

104) The shape of a lined canal as per recommendation of the ISI (NBS) is

1) Semicircular

3) Trapezoidal

2) Parabolic

4) Elliptical

1) ~qr1ICbI(

3) (Oit1('1J?1ICbI(

2) q{q~Cb

4) zyj ~

104) ISI (NBS) ~~, ~ -.mf q)f JW.6T"{ m~:-

105) Which of the following categories best describes the Hirakund reservoir?

1) Reservoir for irrigation and power

2) Reservoir for recreation and fishery

3) Reservoir for irrigation and water supply

4) Reservoir forfload control,power and irrigation.

105)ffi ~ ~ If -{l ~ ~ \jffif~m C6Tmffi ~ quf.f qmft ~ :-

1) ~zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA\3fu: ~ ~ ~ \jffif~m

2) t1-i'r<\il1 i3fR ~. ~ ~ \jffif~m

3) ~ ~ qAt ctt. ~ ~ ~ ljffiT~m

4) ~~, ~~ffiqr{~~~~mzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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in compression (i.e, concrete) and

axis is kd (wherezyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAd ileffective

one of the following mpmsenrs

Mlil'llforcedrectangular beam,oenl<lml1

___ 0.". steel) areO"cb and cst' respectively.

depth) from top cOL.'Jression,face and modular

correctcombination in under reinforced beam?

eebzyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAmk
I) ost = l-k

2)

rrcb mk
3)---

erst 1+k
4)

107) In a limit state method the maximum strain allowed in
code is:

of a beam as perIS

1) 0.02

3) 0.003

2) 0.002

4) 0.0035

108) In order to control the deflection of a continuous beam the

ratio is:

to effective depth

1) 26

3) 13

2) 20

4) 7

109) For a load test of flexural member, the load to be placed on a structure Uper IS code shall be:

1) FullDL

3) Full DL plus O.4LL

Where DL : Dead Load; LL: Live Load

2) Full DL plus full LL

4) Full DL plus 1.25 LL

110) WidthofRC rectangular beam is 205mm, spacing of vertical stirrups provided is 435mm (fy=4lOMps).

If •••• ~ity of a RC beam is more than shear force at a section; the minimum quantity of the
provided as per codal provision is:

2) 75mm2

4) 250mm2

iteIl!!10nallowed limit for design bond stress is 1.5Mpa. If the bar is replacedby

corresponding bond stress will be:

2) 1.9Mpa

4) 3.0Mpa

earthquake resistance design of structures is:

2) IS:1566

4) IS:1904zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA
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JeD T zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

113)Which one of the following provides required depth of foundation of a retaining wal!:zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

q [1-sin¢]
3) rB l+sin¢

4)zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAq[1+s~n¢]2
r I-sm¢

Where q: bearing capacity;zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAy unit weight of the soil;$ :angle of repose; B: width of foundation,

114) In a RC cantilever beam which is subjected to downward load, tension reinforcement needs be
provided at:

1) Top face

3) Middlelevel

2) Bottom face

4) Top and bottom faces

11

11~

120

115) Which one of the following represents relationship between characteristic load (fck), mean strength
(fm) and standard deviation (S) as per relevant codal provisions? 120

1) fck=fm-1.6~S

3) fckefm-2S

116) Scaling objects make them -

1) Smaller,

3) Either smaller or bigger

2) fm=fck-1.65S

4) fm=fck-2S

2) Bigger

4) None of the above

116) ~ Gf)llfUS 01Tq;j1 r:re ?ffi GRffiT t- ?

1) mer
3) moT m-a- m ~

2) ~

4) '3Q{}CR1 if ~ ~ ~

117) One of the below options is wrong about type of AutoCAD drawing units which one is it?

1) .Archi tectural

3) Millimeter

2) Engineering

4) .Decimal

1) 0l1Fcl?eCfil <~

3) f?l~"I41c<

2) ~\JjJA;qRj(

4)~

118) Which command used to determine the Area

1) AR

3) A

2) AA

4) ARE

20- • 26 20 -
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JCDT zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

•••• ?fi1l1 if zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA@ 'Jffift % :-

2) AA (~. ~)

4) ARE (~. \3ffi.zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBAt)

2) XZPlane

4) ZXPlane

~ Bit 0{IGlciiCf(; ~ ~ ~ m vrm % I

2) xz~
3) xy~ 4) ZX~

I 120) All of the following objects can be extruded except a(n)

j

I

1) Arc 2) Polyline

3) Ellipse 4) Region

120) f.iI11 if fr frm:r I3'lltllJicre cn1 l!:i:Ri~s1tTM \1fT .~ % I

1) \311t 2) qM~I~'1

3) ~ 4) ft'!R
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